Fully-worked Solutions

Formative Practice g

1 A Wrong
B Wrong
C Correct
D Wrong
Answer: C
2 (a) True (b) False
(c) False
3 (@ 5 (b) 5
(c) 5 (d) Pentagon
4 Answer: D
5 (a) Scalene triangle
(b) Isosceles triangle
(c) Equilateral triangle
6 (a) Equilateral triangle
(b) Isosceles triangle
(¢) Right-angled triangle
7 (a)

x +40° +70° = 180°
x+110° = 180°
x=70°
Isosceles triangle

(b)

x +58° + 32° =180°
x+90° =180°
x=90°
Right-angled triangle
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X+ 60° + 60° = 180°
x+ 120° = 180°
x =60°
Equilateral triangle
(a) vV (b) X (c) vV (d) v
(a) x+75°+45° =180°
x + 120° =180°
x =60°
(b)  x+x+28° =180°
2x =152°
x =76°
(a) x =47°+34°
=81°
(b) x+21°=132°
x=111°
x =60°
ZSQT =y
y+y=142°
2y = 142°
y="71°
ZPUQ = 43°
x +43° =180°
x=137°
y+21°+90° +43° = 180°
y + 154° = 180°
y=26°
Wrong
Correct
Correct
Correct
Answer: A
(a) Correct
(b) Correct
(c) Wrong
(d) Correct
(@) X (b) v
(c) X @d v
3x 4+ 130° + x + 70° = 360°
4x = 160°
x =40°
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17 ZMNH =180° - 80°
=100°
ZLMN =180°-105°
=75°
x +115° + 75° + 100° = 360°
x +290° = 360°
x=70°
18 x =48°
y+48°=180°
y=132°
19  x+42°=180°
x=138°
y+4y=180°
5y =180°
y=36°
20 LABC =ZACB
1 o o
=5 x (180° - 38°)

1y 140
2

=71°

x+27°=71°

x =44°
y+38° +44° + 114° + 86° = 360°
y +282° = 360°

y=78°
Summative Practice 4
1 R
76°
N
108°
p 63 X
M

ZPQR =180° - 63° - 76°
=41°
x+ 108° + 41° = 180°
x + 149° = 180°
x=31°
Answer: B
2 K
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ZKHS = 70°
ZHSK = % x (180° - 70°)

=L 1100
2
55°
55° + x + 90° = 180°
x + 145° =180°
x=35°
Answer: C

K

X + 65° + 60° = 180°
x + 125° = 180°
x=55°
Answer: A

ZPSR =180° - 36°
= 144°
X + 144° + 57° + 45° = 360°
X + 246° = 360°

x=114°
Answer: A
5 Number of axes of symmetry = 2
Answer: A

6 (a) Hexagon
(b) (i) Number of axes of symmetry
=1
(ii) Number of diagonals
=9
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ZLKML =78°
x+78°+78°=180°
x +156° = 180°
x =24°
ZLMN =78°-22°
=56°
y+78°+56° =180°
y+134°=180°
y=46°
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ZSPT =180°-105°
=75°
X +75°+57°=180°
x+132°=180°
x =48°
ZPSR =57°
y+90° +57° =180°
y+147° =180°
y=33°

9 x =%>< (180° - 46°)

=Lz
2
=67°
ZBCD =360° - 80° - 120° - 56° - 67°
=37°
y+37°+46° + 67° = 180°
y+ 150° = 180°
y=30°
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